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Standards Costs and Variances

One of the objectives of applying the standard cost system
1s to achieve control over the cost elements. This is
achieved by comparing the actual cost with the standard
cost to determine the variance of each cost element
whether direct materials or direct labor or factory overhead
cost in order to analyze and know the reasons for the
occurrence to avoid future occurrence. This paragraph

afidresses the calculation of variances for each cost
giement.
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1. Direct \latm mls. Varisnces ——
The total vartance ol direct materials 'S trom the
difference between actual costs and -.1_.(n'nl;mi‘ CO .
general formula as follows:

The Overall Of D. M. Variance = Actual Cost ~ Standards cost
= (AP * Used A Q )-(SP*S0))

s, and the

where:

AP: Actual Price

AQ: Actual Quantity
SP: Standard Price
SQ: Standard Quantity

This variance can be analyzed into a price variance and
quantity variance as follows :

a. Price Variance = (Actual Price — Standard Price) * A Q
b. Quantity Variance={(AQ —SQ) *SP

Note: When there is more than one material involved in
the production process, the variance of the quantity

analyzed to the material mix and material yield as follows:
a. Direct M. Mix Variance = {Actual inputs mix percentage -
Standard inputs mix percentage)*A.Q. of all D. M. Inputs used *SP

b. Direct M. Yield Variance={( A.Q. of all D. M. Inputs used *
Standard inputs mix percentage) - ( A. Production V. *5.Q.to
produce a unit ))*Sp
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- Example (1)

. Gross com. Uses standard cost system and two types of
| materials that mixed to make product called tomato
' ketchup. The following standards for the direct materials

l:, input to produce (1) ton of tomato ketchup:

1.2 tons of Caltoms at $80 per ton - $96
| 0.4 tons of flotoms at $90 per ton 36
: 1.6 tons. $132

* The actual direct materials input used to produce 4000
. tons of ketchup for the month were:

, 5200 tons of Caltoms at $32 per ton $426 400
|| 1300 tons of flotoms at 397 per ton 126 100 ;4%
. Required:

Compute the overall D.M. Variance.
- Compute the direct materials price, quantity, mix,
Yield variances.

and




Solution:

1 . - Actual D.M. Cost - Standard

Overall D-M: Z5E performance report Tost
fzmM’ﬁa’{ T Actual cost Standard cost | varianc,
1 sp00%82= | 1.2*80*4000 | P
| caltoms | 46400 | =384000 | “2%00un |
T 1300 % 97 = 0.4*90*4000 | —
Flotoms | 176 100 - =144000 | 17 %00¢ |
'“ T ”mm‘); o ] i 24 S{X
| Total | 552500 | 528 000 | un ’
i | ‘ F -

2 o

Price Variance = (Actual Price — Standard Price) * Used Actual

Quantity
Price Variance for caltoms = (82 - 80) * 5200 =10 400 UN.

Price Variance for otoms=(97-90) * 1300 = 9100 UN.

Total of Price Variance= 10 400 UN+9100UN
= 19500 UN.
Quantity Variance = (actual Quantity - Standard Quantity) *
Standard Price
for caltoms = [5200 - {1.2 * 4000)]* 80 = 32000 Un
for otoms=[1300- (0.4 * 4000)]* 90 = 27 000 F.

| . S000UN
Overall D.M. Variance= Price Variance+ Quantity Variance
=19 500 UN+5000 UN
~=24500 UN

Caltoms = (0.80 - 0.75) * 6500 * 80 =

Flotoms = (0,29 - 0.25) * 6500 * 26 000'UN.

90=29 250 F,

3250F.



 Chapter three....... Standard Costing:Setting St
L vield Variance=({ A.Q. of all D. M. Inputs used *
b i percentage) - ( A. Production V.
unit))*S.P-

Caltoms = ({6500 * 0.75) — (4000 * 1.2)) * 80 =6 000 un.
| Flotoms = ((6500 * 0.25) — (4000 * 0.4)) * 90 = 2 250 un.

- 8250 un.
| Quantity Variance = Mix Variance + Yield Variance
i = 3250 F + {8250) UN

= 5000 UN

andard and analysis ¢

f variances
—

. Standard inputs
5.Q. to produce 3

2. Direct Labor Variances

| The total variance of direct labor arises from the difference
' between actual costs and standard costs, and the general
' formula as follows: |

. The Overall Of D. L. Variance = Actual Cost — Standards cost
; = (A.L.R* A H )-(S.L.R*S.H)
. Where:

. A.LL.R : Actual Rate

. AQ: Actual Hours

i S.L.R: Standard Rate

. SQ: Standard Hours

. This variance can be analyzed into a labor rate variance
| and labor efficiency(Time) variance as follows:

ﬁ;a. Labor Rate Variance = (Actual Labor Rate — Standard Labor

 Rate ) * A. hours |

 b. Efficiency Variance. = (A. H. —S. H.) * S. L.R.
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Class x = (80-75)*2610 = 13 050 UN, ——
Ciass y= (20-25)*3190 = 15 950 F.

$2900 F

S ——

b :
gfficiency Variance. = (A.H.~S. H.) * 5. LR,

Class x = [2610-(24%100)]*75=15 750 UN.
Class y = [3190-(36%100)]*25 =10 250 F.

95500 UN

overall D.L. variance = $2900 F+$5500 UN
= $2600 UN

. 3. Factory Overhead Variances

. The overall variance of factory overhead costs is
calculated as follows:
Overall F.O.H. Variance =A. F.O.H - F.0O.H Applied (Standard)

. Where:
F.0.H Applied {Standard)= overall F.O.H Rate *S. H
S. Hours = Budgeted H. to produce a unit * Actual. Production
volume |
The total or overall variance is analyzed and this analysis
may be made using (1) the two-variance method , (2) the
three-variance method , or (3)the four-variance method

Two-Variance Method . The two variance arc the(1) .
Controllable variance (Flexible budgeted variance ) and(=
volume variance. |
Controllable variance. The controllable vart
Usually computed as follows:

anee 18

by ¢ ——nn l:le\it’lc
CO“tl‘Ollable variance = Actual factory ove! head

Udget allowance based on standard hours




Clexible budget allowance based on standarq
H“.Ml € 1d‘ huiigclcd*—(s(and:—l rds hours alloweg*
overhead budgc

overhead rate)

Volume variance. The volume variance s usually
computed as follows:

Volume variance =Budgeted Fixed F.O.H. Rate * ("‘"mai
capacity hours — standard hours)

Three-Variance Method . The three variances are the(1,

. . )
spending variance, (2) Idle Capacity, and (3) Efficiency
variance.

Spending variance. The s

computed as follows:

Spending variance =

Actual factory overhead — F lexible budget
allowance based on actual hours

pending variance 1s usually

Idle Capacity. The idle “apacity varjance g usually
Computed as follows:

Idle Capacity = Bud

geted Fixeq g
Capacity hours —

Q. H.
actual hours) H. Rate = (normal
Efficiene
follows:

Y variance, Thig Variance ;
Efﬁciency Variance =

S usually
overall F-O.H rate “

Four-Variance Method. The four v
1. Spending variance. ;
idle capacit

3. variable effic

Computed as

(AH-gpH)

NCes are the.
Y variance.

1eNCy varian ce.
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. Example (3)

| Stars com. uses a standard costing system.

. The monthly flexible budget for F.O.H.is as follows:
| Flexible Budget

Actlwty level

{D.Lhours | 1,000h | 2,000h "3000h | 5000h |
{ Total variable [ 610,000 | $20,000 | $30,000 650,000 |

T S S

| Total fixed | $10,000 | $10,000 | $10,000 éi'o.ooo

[ 520000 | $30000 | $a0000 |

 The following information available for january: 2012;

2.
Production output 950 units
0@\:-1\




standard Costing:Setting Standard ang ANalygig or Va
- lc ssssne’ :
Chapter thre

i
2 050 hours\
b. D.L. Hours

21,000
C. Variable F.O.H. S

10,500
D. Fixed F.O.H. S e
£. Standard hours to produce a uni .

F. Normal capacity level 2000 hours.

Req. )4, = Sorls s/
(1)

it of product
Prepare a standa:;qﬂgostggeet for one unit of prodyct
(2) Prepare a performance report for January.

(3) Prepare analysis for variance ofrf?‘._g.ﬂ, using :
A. the two -variance method.

B. the three -variance method.

C. the four—variance method.
Solution:

I .Standard ¢ 0St Shee

tfor one unit:

) v ifﬁg‘-‘.. i--
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A The two — variance method

Pontrollable variance = Actual factory overhead -
f_dget allowance based on standard I:murs

31 500 - [Fixed overhead budgeted +(S. V. 0.R. * 5. H.)] -

31500 - [10 000 + (10%950%2)] 2y == oL
31 500 — [10 000 + 19 000] =2 500 UN S

: "'1(‘\")‘?

pacity hours — standard hours)
' = 5 * [2000-(950*2)] =500 UN.

Total of Variance =2 500 UN+500 UN.=3000UN

allowance based on actual hours

' =31 500 - [10000 + (10*2050)] = 1000 UN.

SR AR ISEA SRR

Idle Capacity Variance = Budgeted Fixed F.O.H. Rate %
(normal capacity hours — actual hours)

Efﬁciency variance = overall F.O.H rate * (A.H - S.H)
=15 * (2050 — 1900)
1=2250 UN.

f;Overall F.O.H. Variance=1 000 UN+250 F+2250 UN=$3000UN

 C. Four-Variance Method

| Spending variance = 1000 UN.
Idle Capacity Variance= 250 F
E * (A.H -

' Variable Efficiency variance = Variable F.O.H rate

S.H)
| =10* (2050 - 1900) =1500 UN




